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The fundamentals of economics

Main Topics:

% Scarcity and efficiency







Lesson 1

The fundamentals of economics

Scarcity and efficiency:

1-1-The Twin Themes of economics

What is economics? Over the last half-century, the study of economics has expended to include a
vast range of topics. What are the major definitions of these growing subjects? The important
ones are that economics

eanalyzes how a society's instiutions and technology affect prices and the allocation of resources
among different uses.

« explores the behavior of the financial markets , including interest rates and stock prices.
 examines the distribution of income and suggests ways that the poor can be helped without
harming the performance of the economy

« studies the patterns of trade among nations and analyzes the impact of trade barriers.

* looks at growth in developing countries and proposes ways to encourage the efficient use of
resources.

Economics is the study of how societies use scarce resources to produce valuable commodities
and distribute them among different people.

Behind this definition are two key ideas in economics: that goods are scarce and that society
must use its resources efficiently. Indeed , economics is an important subject because of the fact
of scarcity and the desire for efficiency.

Efficiency denotes the most effective use of a society's resources in satisfying people’s
wants and needs.

The essaence of economics is to acknowledge the reality of scarcity and then figure out how to
organize society in a way which produce the most efficient use resources. That is where
economics makes its unique contribution.

1-2- The Three Problems of economic organization

Every human society-whether is an advanced industrial nation, a centrally planned economy, or
an isolated tribal nation- must confront and resolve three fundamental economic problems. Every
society must have a way of determining what commodities are produced , how these goods are
made , and for whom they are produced.

Lets look more closely at them:

« What commaodities are produced and in what quantities? A society must determine how much of
each of the many possible goods and services it will make and when they will be produced.Will we
produce pizzas or shirts today? A few high-quality shirts or many cheap shirts?

*How are goods proucted? A society must determine Who farms and who teaches? Is electricity
generated from oil,from coal, or from the sun? Will factories be run by people or robots?

» For whom are goods produced? Who gets to eat the fruit of economc activity? How is the
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national product divided among different households? Are many people poor and a few rich? Do
high incomes go to teachers or athletes or autoworkers or Interenet entrepreneurs? Will society
provide minimal consumption to the poor, or must people work if they are to eat?

1-3- Market, command, and mixed economies

What are the different ways that a society can answer the questions of what , how, and for
whom? Different societies are organized through alternative economic system, and economics
studies the various mechanism that a society can use to allocate its scarce resources.

A market economy is one in which individuals and private firms make the major decisions
about production and consumption. A system of prices, of markets, of profits and losses, of
incentives and rewards determines what, how, and for whom.

By contrast, a command economy is one in which the government makes all important
decisions about production and distribution.

No contemporary society falls completely into either of these polar categories. Rather, all
societies are mixed economics, with elements of market and command. There has never been a
100 percent market economy (although nineteenth- century England came close).

1-4- Inputs and outputs

To answer these three questions. Every society must make choices about the economy's inputs
And outputs. Inputs are commaodities or services that are used to produce goods and services. An
economy uses its existing technology to combine inputs to produce output. Outputs are the
various useful goods or services that result from the production process and are either consumed
or employed in further production.

factors of production can be classifies into three broad categories: land, labor, and capital.
eLand-or, more generally, natural resources represents the gift of nature to our productive
processes. It consists of the land used for farming; the energy resources that fuel our cars and
heat our homes; and the nonenergy resources like copper and iron ore and sand. In today's
congested world, we must broaden the scope of natural resources to include our environmental
resources , such as clean air and drinkable water.

* Labor consists of the human time spent in production (working in automobile factories, tilling
the land , teaching school). It is at once the most familiar and the most crucial input for an
advanced industrial economy.

* Capital resources from the durable goods of an economy, produced in order to produce yet
other goods. Capital goods include machines, roads, computers, hammers, trucks, steel mills,
automobiles, .... The accumulation of specialized capital goods is essential to the task of
economic development.

1-5- The production-possibility frontier

Societies can not have everything they want. They are limited by the resources and the technology
available to them. Take defense spending as an example. Countries must decide how much of their
limited resources goes to their military and how much goes into other activities (such as new
factories or education). Some countries , like Japan, allocate only 1 percent of their national output to
their military. The United States spends 4 percent of its national output on defens, while a fortress
economy like North Korea spends up to 20 percent of its national output on the military. (The more
output that goes for defense, the less there is available for consumption and investment).

Let us dramatize this choice by considering an economy which produces only two economic
goods, guns and butter. The guns, of course , represent military spending, and the butter stands
for civilian spending. Suppose that our economy decides to throw all its energy into producing
the civilian good, butter. There is a maximum amount of butter depends on the quantity and
quality of the economy’s resources and the production efficiency which they are used Suppose 5
million pounds of butter is the maximum amount that can be produced with the existing
technology and resources.
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At the other extreme to the production of guns. Again, because of resource limitations, the
economy can produce only a limited quantity of guns. For this example, assume that the
economy can produce 15,000 guns of a certain kind if no butter is produced.

Alternative Production Possibilities
e Butter Guns
Possibilities (millions of pounds) (thousands)
A 0 15
B 1 14
C 2 12
D 3 9
E 4 5
F 5 0

Table (1-1) Limitation of Scarce Resources Implies the Guns Butter Tradeoff

These are two extreme possibilities. In between are many others. If we are willing to give up
some butter, we can have some guns. If we are willing to give up still more butter, we can have
still more guns.

A schedule of possibilities is given in Table 1-1.Combination F shows the extreme, where all
butter and no guns are produced. In between-at E , D, C, and B- increasing amount of butter are
given up in return for more guns.

T Tt

12

T

Guns {thousands)

0 1 2 3 4 5
Butter (millions of pounds)

Figure (1-1): The Production Possibilities in a Graph

The production-possibility frontier (or PPF) shows the maximum amounts of production that
can be obtained by an economy, given its technological knowledge and quantity of inputs
available. The PPF represents the menu of goods and services available to society.

1-6- Opportunity costs

Life is full of choices. Because resources are scarce, we must always consider how to spend our
limited income or time. When you decide whether to study economics, buy a car, or go to
college, in each case you must consider how much the decision will cost in terms of forgone
opportunities. The cost of the forgone alternative is the opportunity cost of the decision.

The concept of opportunity cost can be illustrated using the PPF. Examine the frontier in figure
1-1, which shows the trade-off between guns and butter. Suppose the country decides to increase
its gun purchases from 9000 guns at D to 12,000 units at C. What is the opportunity cost of this
decision? You might calculate the cost in dollar terms. But in economics we always need to
"price the veil" of money to examine the real impacts of alternative decisions. On the most
fundamental level, the opportunity cost of moving from D to c is the butter that must be given up
to produce the extra guns. In this example, the opportunity cost of the 3000 extra guns is 1
million pounds of butter forgone.
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Circle the letter that corresponds to the best answer.

1-The word that is central to the definition of economics is..........

a) capital b) labor C) resource d) scarcity
2- Human wants are.............

a) about equal to our production capacity b) relatively unlimited

c) relatively limited d) easily satisfied

3- We have mixed economy because........
a) there is aprivate sector and a public sector
b) we consume domestically produced goods as well as imports
) we consume both goods and services
d) we produce guns and butter

4- Which of the following is an economic resource?

a) scarcity b) gold c) a factory d) labor
5- Which of the following is a capital good?
a) steel mills b) labor c) human d) pizza
6- Each of following is an example of capital except...
a) a factory b) an office building
c) land d) a computer system
7- We would not need to economize if.......
a) There was no scarcity b) every one received a big pay increase
¢) The government printed more money d) There was less output of goods and services

8- The full-production level of our economy implies
a) zero unemployment
b) an efficient allocation of our resources
¢) a high unemployment rate
d) our plant and equipment being operated at 100 percent capacity

9- The production possibilities frontier represents ......
a)our economy at full employment but not full production
b) our economy at full production and full employment
¢) our economy at full production but not full employment
d) our economy at not full employment and not full production

10- The opportunity cost of spending four hours studying a review book the night before a final
exam would ........ be.
a) The cost of the review book b) missing four hours of TV
¢) The knowledge gained from studying d) a higher grade on the exam.

11- If we are operating inside our production possibilities frontier...
a) There is definitely recession going on
b) There is definitely inflation
¢) There is definitely less than full employment
d) There is definitely not a recession going on

12- The closer we are to origin and the farther away we are from the production possibilities
frontier.............
a) The more unemployment there is b) The less unemployment there is
¢) The more guns we are producing d) the more butter we are producing
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13- The price system is based on...........
a) government regulation(i.e, The government sets most prices)
b) The individual whim of the businessperson who sets is
¢) The feelings of the individual buyer
d) supply and demand

&)
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Demand and Supply

Main Topics:

+% Demand

#% The demand curve

% Forces behind the Demand Curve
#% Shifts in demand

o The supply

«% Forces behind the supply curve

«% Equilibrium with supply and demand curves

% Effect of a shift in supply or demand







Lesson 2

Demand and Supply

2-1- Demand

There exists a definite relationship between the market price of a good and the quantity
demanded of that good, other things held constant. This relationship between price and quantity
bought is called the demand schedule, or the demand curve.

Let's look at a simple example. Table 2-1 presents a hypothetical demand schedule for cornflakes
that consumers purchase. For example, at $15 per box, consumers will buy 9 million boxes per year.

Demand schedule for cornflakes
1) 2)
Price Quantity demanded
($ per box) (millions of boxes per year)

P
A 5 9
B 4 10
C 3 12
D 2 15
E 1 20

Table (2-1): The Demand Schedule Relates Quantity Demanded to Price

2-2: The demand curve

Note that quantity and price are inversely related; that is, Q goes up when P goes down. The
curve slopes downward, going from northwest to southeast. This important property is called the
law of downward-sloping demand.

Quantity demanded tends to fall as price rises for two reasons. First is the substitution effect.
When the price of a good rises, | will substitute other similar goods for it (as the price of beef
rises , | eat more chiken).

A second reason why a higher price reduces quantity demanded is the income effect. This comes
into play because when a price goes up, | find myself somewhat poorer than | was before. If
gasoline prices double, I have in effect less real income , so | will naturally curb my consumption
of gasoline and other goods.
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2-3-Forces behind the Demand Curve
A whole array of factors influences how much will be demanded at a given price: average levels

of income, the size of the population, the price and availability of related goods, individual and
social tastes, and special influences.

eThe average income of consumers is a key determinant of demand. As people's income rise,
individuals tend to buy more of almost everything, even if prices don’t change.Automobile
purchases tend to rise scharply with higher levels of income.

e The size of the market-measured, say, by the population-clearly affects the market demand curve.

e The prices and availability of related goods influence the demand for a commodity. A
particularly important connection exists among substitute goods-ones that tend to perform the
same function, such as cornflakes and oatmeal, pens and pencils. Demand for good A tends to be
low if the price of substitute product B is low.

e In addition to these objective elements, there is a set of subjective elements called tastes or
preferences. Tastes represent a variety of cultural and historical influences. They may reflect genuine
psychological or physiological needs (for liquids, love, or excitement). And they may include
artificially contrived cravings (for cigarettes, drugs, or fancy sports cars). They may also contain a
large element of tradition or religion (eating beef is popular in America but taboo in India, while
curried jellyfish is a delicacy in Japan but would make many Americans gag).

e Finally, special influences will affect the demand for particular goods. The demand for
umberallas is high in rainy Seattle but low in sunny.

2-4- Shifts in demand

Why does the demand curve shift? Because influences other than the good 's price change.

The net effect of the changes in underlying influences is what we call an increase in demand. An
increase in the demand for automobiles is illustrated in Figure 2-2 as a rightward shift in the
demand curve. Note that the shift means that more cars will be bought at every price.
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Figure (2-2): Increase in Demand for Automobiles

2-5-The supply

Table 2-2 shows a hypothetical supply schedule for cornflakes, and Figure 2-2 plots the data
from the table in the form of a supply curve. These data show that at a cornflakes price of $1 per
box, no cornflakes at all will be produced. At such a low price, breakfast cereal manufacturers
might want to devote their factories to producing other types of cereal , like bran flakes, that earn
them more profit than cornflakes.

Supply schedule for cornflakes

1) (2)
Price Quantity supplied
($ per box) (millions of boxes per year)

P Q
A 5 18
B 4 16
C 3 12
D 2 7
E 1 0

Table (2-3) Supply Schedule Relates Quantity Supplied to Price

Figure 2-3 shows the typical case of an upward sloping supply curve for an individual
commodity. One important reason for the upward slope is " the law of diminishing returns "
Wine will illustrate this important law. If society wants more wine, then additional labor will
have to be added to the limited land sites suitable for producing wine grapes. Each new worker
will be adding less and less extra product. The price needed to coax out additional wine output is
therefore higher. By raising the price of wine, society can persuade wine producers to produce
and sell more wine.

w
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Figure (2-3): Supply Curve Relates Quantity Supplied



ﬁ “ Demand and Supply 2 vf

2-6- Forces behind the Supply Curve

One major element underlying the supply curve is the cost of production. When production costs
for a good are low relative to the market price, it is profitable for producers to supply a great
deal. When production costs are high relative to price, firms produce little.

An equally important determinant of production costs is technological advances , which consist
of changes that lower the quantity of inputs to produce the same quantity of output. Such
advances include every thing from scientific break throughs to better application of existing
technology or simply reorganization of the flow of work.

But production costs are not only ingredient that goes into the supply curve. Supply is also
influenced by the prices of related goods, particularly goods that are alternative outputs of the
production substitute rises , the supply of another substitute will decrease.

Government policy also has an importation impact on the supply curve.

2-7- Equilibrium with supply and demand curves

We find the market equilibrium by looking for the price at which quantity demanded equals
quantity supplied. The equilibrium price comes at the intersection of the supply and demand
curves, at point C.

How do we know that the intersection of the supply and demand curves is the market
equilibrium? Let us repeat our earlier experiment. Start with the initial high price of $5 per box,
shown at the top of the price axis in Figure 2-4. At that price, suppliers want to sell more than
demanders want to buy. The result is a surplus, or excess of quantity supplied over quantity
demanded, shown in the figure by the black line labeled " Surplus”. The arrows along the curves
show the direction that price tends to move when a market is in surplus.

At a low price of $2 per box, the market shows a shortage, or excess of quantity demanded over
quantity supplied, here shown by the black line labeled ™ Shortage ". Under conditions of
shortage, the competition among buyers for limited goods causes the price to rise, as shown in
the figure by the arrows pointing upward.

We now see that the balance or equilibrium of supply and demand comes at point C, where the
supply and demand curves intersect. At point C, where the price is $3 per box and the quantity is
12 units, the quantities demanded and supplied are equal: there are no shortages or surpluses ;
there is no tendency for price to rise or fall. At point C and only at points , the forces of supply
and demand are in balance and the price has settled at a sustainable level.

P D s
1 Surplus /

3P Equilibrium point

Price (dollars per box)

N

-

o 5
2 — 4Quantity (millions of boxes per year)

FIGURE 37. Market Equilibrium Comes at the Intersec-
tion of Supply and Demand Curves '

2-8-Effect of a shift in supply

Suppose that a spell of bad weather raises the price of wheat, a key ingredient of bread. That shifts
the supply curve for bread to the left. This is illustrated in Figure 2-5, where the bread supply curve
has shifted from SS to S'S'. In contrast, the demand curve has not shifted because people 's
sandwich demand is largely unaffected by farming weather.

What happens in the bread market? The bad harvest causes bakers to produce less bread at the
old price, so quantity demanded exceeds quantity supplied. The price of bread therefore rises,
encouraging production and thereby raising quantity supplied, while simultaneously
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discouraging consumption and lowering quantity demanded. The price continues to rise until, at
the new equilibrium price (E"), the amounts demanded and supplied are once again equal.

Cuanlity

Figure (2-5):Shifts in Supply change Equilibrium Price and Quantity
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